Perimeter Worksheet 3

ltem 3025 Name
Perimeter
Worksheet 3
Find the missing value.
] . 9 cm 2 20 cm
11 em
6 cm|
27 cm
4 cm r
7 cm d
11 em
5 em 20 cm
perimeter = 44 cm perimeter=116 cm
r= cm d= cm
3. 4. 8 in
3in
4 in
10 in
3in
Bin
4 in
4 in
5in 7 in
X

perimeter = 99 in
c= in
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perimeter = 63 in
X = in
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Perimeter Worksheet 3 Answer Key
Iltem 3025

Perimeter
Worksheet 3

Find the missing value.

1. 9 cm 2. 20 cm
11 ecm
6 cm|
27 cm
4 cm r
d
7 cm
11 em
5 cm 20 cm
perimeter = 44 cm perimeter=116 cm
r=_13 cm d=27 cm
3in
4 in
10 in
3in
8in
4 in
4 in
5in 7 in
X
perimeter = 99 in perimeter = 63 in
c=10 in x=_7_1in
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